
Q. No. Ans.Key Q. No. Ans.Key Q. No. Ans.Key Q. No. Ans.Key

1 A 22 B 32 D 74 C

2 A 33 B 72 D 10 C

3 C 76 D 41 A 68 B

4 E 7 E 13 E 67 E

5 B 75 A 93 C 81 D

6 A 60 B 71 D 53 C

7 B 26 A 63 C 49 D

8 A 14 B 62 D 43 C

9 C 71 B 86 A 29 A

10 D 80 C 54 B 15 A

11 D 99 C 97 B 89 A

12 D 36 C 45 B 21 A

13 C 96 D 79 A 1 B

14 E 50 E 61 E 2 E

15 E 69 E 74 E 70 E

16 C 45 D 81 A 13 B

17 C 35 D 60 A 38 B

18 D 100 D 27 D 95 D

19 C 63 D 87 A 37 B

20 E 51 E 28 E 19 E

21 A 6 B 36 D 25 C

22 B 89 A 17 C 79 D

23 B 70 A 56 C 28 D

24 A 77 C 58 C 85 B

25 E 27 E 96 E 75 E

26 B 12 A 100 C 63 D

27 B 91 A 46 C 59 D

28 D 3 C 16 B 32 A

29 A 81 C 83 C 56 B

30 A 32 B 91 D 82 C

31 A 54 B 8 D 44 C

32 B 82 A 84 B 80 C

33 B 61 A 9 B 34 C

34 A 38 B 26 D 31 C

35 C 66 D 52 A 61 B

36 A 8 B 59 D 72 C

Option 'D' is correct answer. The size of atom K is 

greater than that of ‘Na’. Hence the outer most 

electron can be easily removed in ‘K’.

Options 'B', 'C' and 'D' determine the 

characteristics of federalism whereas option 'A' 

vesting of residuary powers with centre tends to 

unitary feature. Hence 'E' will be the correct 

answer.
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37 A 31 C 78 C 45 B

38 A 5 B 49 D 90 C

39 C 2 D 76 A 92 B

40 C 34 B 31 A 93 A

41 D 57 C 48 B 42 A

42 D 24 C 88 B 84 A

43 B 87 A 21 C 48 D

44 B 30 A 75 C 62 D

45 C 21 B 43 A 20 A

46 B 65 A 33 C 35 D

47 C 11 D 67 A 73 B

48 A 23 B 53 D 69 C

49 D 46 C 10 B 66 A

50 C 40 B 25 A 88 A

51 C 55 D 69 A 87 B

52 C 15 D 89 A 97 B

53 C 88 B 90 A 24 A

54 A 56 B 12 D 14 C

55 D 41 C 95 B 65 A

56 C 85 D 7 A 16 B

57 D 94 C 98 B 50 A

58 D 18 C 92 B 36 A

59 C 67 D 55 A 39 B

60 A 16 B 6 D 55 C

61 E 93 E 82 E 30 E

62 D 84 C 3 B 52 A

63 A 10 B 77 D 96 C

64 C 47 B 80 A 83 A

65 C 9 D 29 A 8 B

66 C 39 D 2 A 9 B

Option 'A' is the correct answer because among 

the given options Gupta dynasty ruled for the 

longest period.

Option 'C' is the correct answer. Digestive 

enzymes secreted from saliva, stomach, Pancreas 

and small intestine act as biocatalysts which help 

to  breakdown  food. HCl, secreted from parietal 

cells, converts inactive pepsinogen into active 

pepsin and makes strong acidic environment  

within stomach. So the correct option is 'C'.

Option 'C' is the correct answer. PURA was 

coined on 26th January, 2003. Ministry of Rural 

Development, Govt. of India implemented it 

from the year 2004.

Option 'A' is the correct answer. As per Art. 126 of 

Indian Constitution, acting Chief Justice of India is 

appointed by the President of India.

Option 'E' is the correct answer. There are small 

deposits of magnetite in the hills of Bihar which 

include both Gaya and Jamui districts. 

Option 'A' is correct answer. According to Union 

budget 2022-23 Climate change, PM Gati shakti 

Plane and Productivity are part of four pillars but 

change in income tax rates is not included in the 

four Pillars. 

Option 'D' is correct answer. Art. 155 is not 

related to removal of Governor, rather to 

appointment of Governor.
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67 D 97 C 51 B 60 A

68 B 49 A 19 C 51 D

69 A 64 C 37 C 41 B

70 A 79 B 23 D 17 C

71 D 37 D 68 D 54 D

72 D 59 C 14 B 100 A

73 E 78 E 20 E 23 E

74 D 17 C 24 B 47 A

75 D 62 C 35 B 27 A

76 D 86 C 47 B 12 A

77 B 58 A 1 C 76 D

78 E 28 E 11 E 99 E

79 Deleted 92 Deleted 94 Deleted 5 Deleted

80 B 29 A 50 C 58 D

81 D 74 C 5 B 7 A

82 D 20 C 57 B 18 A

83 B 72 A 38 C 91 D

84 B 90 A 99 B 77 C

85 D 4 C 30 B 86 A

86 A 68 B 42 D 46 C

87 B 44 A 39 B 64 C

88 B 98 A 85 C 40 D

89 A 53 B 65 D 57 C

90 D 48 C 4 B 94 A

91 B 73 A 66 C 6 D

92 A 83 B 73 D 22 C

93 B 52 A 34 C 11 D

94 D 42 C 40 B 3 A

95 A 25 B 64 D 78 C

96 C 1 D 22 A 33 B

97 E 19 E 44 E 98 E

98 D 13 C 15 B 71 A

99 A 43 B 18 D 26 C

Option 'D' is the correct answer. The share of 

estimated fiscal deficit in GDP during financial 

year.2022-23 is 6.4 percent.

Option 'E' is the correct answer. The statements 

1,3 and 4 are true in terms of constituent 

Assembly where as option 2 is not true as it was 

not the result of direct election. 

Data for Multidimensional Poverty Index (MPI) 

Provided by NITI Aayog for the reference year 

2019-2021, which was published in 2023. Even in 

the latest report published by UNDP in January 

2024, MPI data published by NITI Aayog in also 

for the year 2019-21.

  But in this question the reference year 

mentioned is 2021-22. But no data is published 

by NITI Aayog for this year. Hence this question is 

Deleted.

Option 'D' is the correct answer. The river Ghagra 

joins the river Ganga between Chapra and 

Revelganj near village Kotwapatti Rampur.

Option 'B' is correct answer. Reserve Bank of 

India announces the Monetory Policy in India.
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100 A 95 B 70 D 4 C

101 A 150 C 143 C 126 B

102 A 134 C 133 C 141 B

103 B 124 A 129 B 116 C

104 A 126 C 105 C 127 B

105 B 122 A 144 B 125 C

106 C 141 B 130 A 143 A

107 A 145 C 149 C 136 B

108 C 136 B 148 A 112 A

109 A 118 C 116 C 145 B

110 B 142 A 128 B 121 C

111 A 135 C 121 C 114 B

112 B 117 A 102 B 133 C

113 B 101 A 107 B 122 C

114 C 112 B 127 A 104 A

115 B 138 A 141 B 149 C

116 A 131 C 108 C 137 B

117 B 127 A 106 B 150 C

118 C 108 B 109 A 105 A

119 C 113 B 114 A 130 A

120 B 121 A 137 B 103 C

121 C 102 B 118 A 119 A

122 A 147 C 120 C 111 B

123 B 107 A 139 B 113 C

Option "A" is the correct answer. flag] v:.k dqekj( 

^^euksfoKku] lekt'kkL= rFkk f'k{kk esa 'kks/k fof/k;k¡**( ISBN –  

978-   81-208-2411-9

Option "B" is the correct answer.  IGNOU 

Material, 

Block-2 Philosophical Perspective of education.

Option "C" is the correct answer.  IGNOU material 

Unit-10: Assessment: basic

Option "A" is the correct answer.  IGNOU Material 

Unit-2  Unit  and lesson planning. Block-  1 

Curriculum Planning and Instruction in 

Mathematics.

Option "B" is the correct answer. MkW- y{ehyky dså 

vksM+( **f'k{kk dh nk'kZfud i"̀BHkwfe**( jktLFkku fgUnh xzaFk vdkneh] 

t;iqj 

Option "B" is the correct answer. IGNOU material. 

Unit 11- Assessment of Learner Performance.

Option "A" is the correct answer. IGNOU material 

Unit 5 - Education Commission and Policies.

Option 'A' is correct answer. Dividing the 2nd 

equation by -4, we obtain the 1st equation. So 

that both equations yielding infinite number of 

solutions because we have only one equation in x 

& y. 

Option "A" is the correct answer. (flag v:.k dqekj( 

^^euksfoKku] lekt'kkL= rFkk f'k{kk esa 'kks/k fof/k;k¡**( ISBN – 

978- 81-208-2411-9)

Option 'A' is the correct answer. Ignou Material: 

Block-2 philosophical perspective of education.

Option "C" is the correct answer. 

 International Journal of Education; Vol B; Issue-

4; Sep.2020

 P-ISSN;3220-2653; E-ISSN;2582-1334
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124 A 128 C 122 C 123 B

Option 'A' is the correct Answer. Inclusive 

Education vkSj Mainstreaming ds Concept esa lHkh 

çdkj ds cPpksa dks mudh t:jr ds vuqlkj lqfo/kk miyC/k djkuk 

gh Accomodation gSA
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125 C 129 B 135 A 146 A

126 A 119 C 134 C 148 B

127 A 123 C 138 C 102 B

128 B 109 A 123 B 115 C

129 C 110 B 140 A 124 A

130 C 103 B 145 A 109 A

131 B 105 A 132 B 128 C

132 B 149 A 142 B 134 C

133 B 148 A 104 B 140 C

134 A 133 C 146 C 120 B

135 A 146 C 111 C 147 B

136 C 116 B 125 A 106 A

137 A 139 C 115 C 108 B

138 B 132 A 101 B 110 C

139 B 137 A 126 B 129 C

140 C 120 B 131 A 135 A

141 C 111 B 112 A 138 A

142 C 104 B 136 A 144 A

143 A 125 C 124 C 142 B

144 B 115 A 103 B 131 C

145 C 144 B 110 A 118 A

146 C 106 B 147 A 101 A

147 A 143 C 150 C 107 B

148 C 114 B 117 A 132 A

149 C 130 B 119 A 139 A

Option "A" is the correct answer. Becoming Better 

Teacher : Microteaching Approach – B.K.Passi. 

The centre of Advanced in Education

The M.S. University of Baroda, Baroda.

Option 'B' is the correct answer. IGNOU material  

Unit 7- Contribution of Indian Philosphers.

Option "B" is the correct answer. Becoming Better 

Teacher : Microteaching Approach – B.K.Passi. 

CASE ; M.S.University ; Baroda.

Option "B"is the correct answer. IGNOU material 

Unit 10- Assessment Basics.

Option "A" is the correct answer. MkW- y{ehyky dså 

vksM+( **f'k{kk dh nk'kZfud i"̀BHkwfe**( jktLFkku fgUnh xzaFk vdkneh] 

t;iqj ikB laå&05] f'k{kk esa vkn'kZokn

Option "C" is the correct answer. IGNOU Material

Block-  2; Techniques and tools of Assessment 

and Evaluation. Unit-7.

Option "C"is the correct answer. IGNOU material, 

BLI-222, Information sources and services.

Option "B" is the correct answer.  IGNOU material 

Unit 16: SKILLS ASSOCIATED WITH TEACHER 

CONTROLLED INSTRUCTION-II

Option "C" is the correct answer.IGNOU material 

Block-4 Teaching skills.

Option "C" is the correct answer. NCF 2005, by 

NCERT

Option "C" is the correct answer. v:.k dqekj flag( 

**euksfoKku] lekt'kkL= rFkk f'k{kk esa 'kks/k fof/k;k¡ (+  ISBN –  

978-   81-208-2411-9

Option "A" is the correct answer. MkWå ,y-ds-vksM+( 

**f'k{kk dh nk'kZfud i"̀BHkwfe** jktLFkku fgUnh xzaFk vdkneh] t;iqjA

ikB laå&06& vFkZ&fØ;kokn rFkk f'k{kk
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150 A 140 C 113 C 117 B


